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1. Choose the correct synonyms of the underlined words in the sentences below :- 3x1=3
() | am always reluctant to trust a departing visitor to post an important letter
a) relieved b) unwilling c) regular d) willing

(i) Little do rely on his memory that | put him on his oath before handing the letter
a) remember b) depend c) ask d) strike
(i)  Statesmen have a memory lie a sieve
a) sleeve b) strainer c) severe d) hacksaw
2. Choose the correct antonyms of the underlined words in the sentences below:- 3x1=3
0) The ordinary man arrives at his destination with all his bags and trunks safe
a) end b) place ¢) beginning d) vision
(i)  His loss of memory is really a tribute
a) blame b) praise c) compliment d) misappropriate

3. Choose the right combination for the blended word ‘travelogue’

a)travel+monologue b) travel + catalogue
c) travel + dialogue d) travel+analogue
4. Choose the equivalent American English word for the underlined word:
English movies have no interval
a) break b) pause c) intermission d) interaction
5. Prem went to jail to see his relative
a) prison b) lock up c) correctional facility d) detention

6. Rewrite as directed

i) Obey the traffic rules otherwise you will be punished (change into complex
sentence)

ii) Arun ran fast but he missed the bus (change into simple)
7. Rewrite the sentence maing an inversion in the conditional clause:

If I had known you were ill, | would have called on you (Begin with ‘Had’)

8. Answer any two of the following questions briefly: 2x3=6
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ii) when does human memory work with less than its usual capacity?
i) Name aview. Baiieattiatiatperson remembers easily2vw.Trb Tnpsc.com
Read the lines given below and answer the questions that follow: 4x1=4
i) “To her works did nature link...”
Identify the figure of speech in the above line
ii) I heard thousand blended notes
while in a grove | sat reclined”
i) Where did the poet sit?
if) what did the poet notice about twigs?
i) “The periwinkle trail'd its wreaths”
What does ‘wreaths’ mean?
Explain the following lines with reference to the context 1x3=3
i) Have | not reason to lament
What man has made of Man
Answer in a paragraph of the following questions. 3X5=15
i) Will you sympathise or ridicule someone who is intensely forgetful? Write an essay
justifying your point of view.

ii) Do you think the poet wants to say that man is unhappy because he has lost his link

nature and forgotten how to enjoy nature or because man is cruel to other men?
iii) Many patients wait - dentist’s clinic- tensed —tooth- being extracted- the arrival of the

dentist- Joe, the first patient- called in- the nurse goes- with hammer-reaction — other

visitors-

10.
11.

go away fear - was to open tool box.

Write an email to your uncle thanking him for the gift that he had sent from abroad
Identify and correct the errors in the following sentences

i. 1 have never seen a six feet snake

ii. He gave me an advice

iii. Balaji is junior than me

iv.] saw an one rupee coin on the road

v. He is possessing a new car
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